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Chapter 9 Practice Test

Short Answer

1. Name the expression based on its degree and number of terms.
6x3-_9x+3 3"( (if — 'I“h"om;qi or CUAIC %’ﬂc}q’ﬂ/

2. Write the polynomial in standard form. Then name the polynomial based on its degree and number of terms.

2-112-8x+62 -G\ 2 9 ) 2"‘{,&/@ Kingmial o gu«é.;{c

’710'-74/
3. Simplify the sum.

(403 + 4u2 + 2) + (61 — 2u + 8)
3
[0y +4u1”2u +/()

Slmphfy the dlfference

-—-E"'"

4, (4w2 4w 8) (2w2+3w 6)

2 0]

5. Find the GCF of the terms of the polynomial.
3 3 i 3
O 85 + 32x 8% Sx (X ” 4)

Factor the polynomial with GCF factoring.

40wt + 16w 8-‘(5»./’-*2)

7/ 26 + 8% + Gx
' 2x(xl+4x +3>

8.I Factor the following expression. f,,Jm ;o

A R 7

9. | Factor the following expression.

2%# i 1 s;%:;; 8gr2 ( ) (’ )

Simplify the product

10. 8x2(4x2 + 4)F)
305 e 305
U/
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11. 8p(=3p*+6p-2)
—24p3+ 43,91 - MF
12. 5a(3a* +3b)
1548 + 1542
13. 723 (5d5 - 2b%)

3
3%a" —-/%35

Simplify the product using FOIL. e
12 - —
14. (3x—-7(3x-5) ?){ ’“/5)( _2/)( +35

Find the product.
2
5. @ne2en-2 Yn? -4, +4, -4 Chi-¢ )
Complete.

16. @+ 15y+56=(+ ¥+ /M)
g
17

. Find the missing coefficient.

; -~
5d — 7)(5d - 6) = 25d° +/ M d+42
(5= 754 - ) '( (, Sj
-30d -35d _

Find the square.

18. (Bm+ 77 = (8m+?)(3m+?) 64}@2 + 1 2t 49

19. Simplify.
(2k+3 _)Qkf_: 4k —3)
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Factor the expression.

0 20. 495236
49>+ 0 b~ 36

Gb=¢)(b+ ()

@ R — 1682
<(/< Hk +4h)
S @ 432 — 81y2

(2 =9)(2x +y)

23. r-49

r- 9 Xr +9)
O 24. 49b% + 70b +25
(b -5)(0%+5)

(=9{d-»

26. wi+ 18w+ 77

b ) i)

27, ¥-x-42

(X = ’})(X o ()

© (kk-19

7E6-(c 7érs 07[ -3(

b+=(= 0

ID: A



Name: ID: A

29. 15x2 = 16xy+ 4)2

(SX—Q)D(ZX -2y> O
(QA+ 1)(6d - /)

ez (e )31 )

o +lhe=)) —s 9 (5x~2)(2¢+ 3)

Solve the equation using the zero-product property.

th+8=0 Gy -4=0

3. (dr+B)dr-4)=0 AF _ |
= de D =3 e O
34, 3In(On+2) =
%-, In=0 Gn+L=0
% h=0 qn =-2

Solve the equation by factoring. n= 0y
35. 22-22-15=0 2320
- = 2ZFS=
z2-$)z+3)= Z£-5=0
R G
36. 22°+82+6=0
2(z*442+3)=0 =) 2+[=0

Y YeeN=0 &= o GE=D

Td0 (D v (D

38. 15=8x2—14x 3
Sx?‘-l‘x‘x —1S=0 QX-S_:O Ux+3=0
fx=-3

(2x=5 )t 3)=0 | s, o



